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Using the data below, find the particular data types asked.

90, 85, 87,92, 75, 86, 94, 95, 100, 88, 92

5. Mean = %% 5
6. Median = q0 8

7. Interquartile Range = 03"@1— .
8. Range=hiqh:‘: — lowF or max-mn g

9. Standard Deviation = '3

Math 1 EOC Review Sheet |(\ q

Section 1: Systems of Equations

1. An Algebra teacher is giving a test worth 150 points. The test will have 46 three and five

point questions. How many of each question is on the test?
Ikt 5\‘ =\50 Dyt 543 =150 LJ I St qQuestions 3(%)»3{:‘.)'.”50
Xry THE 3w - g=-13% HO 3pr questiens “or ¢
L Ay A2

2. How mm e wotld you have to combine withsa55% juice mixture to

- £ e 5o% = 1280
32 40 - = A

3. Rich Rhonda collects nickels and quarters.al-‘ier piggy bank now holds 30 coins amounting to _

$5.10. How many of each coin does she have? ‘ %01)*_“03] = 5.0

X ml’\iCkfb ‘qL'DE))\*.lS\? 5, lB 3 ‘0-207\" Y = _w\,‘

\P.“luor’ltfs X v 30 | AV} - 39_..——-~
8Ok = Qo
'9

Section 2: Quadratics
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1. Identify the vertex, axis of symmetry, min or max, and range of the following function:
y=x>+6x+9

.velr‘t_ex:- i max ok m““: a r
( QXiSt’& :;mae range: UZ o A

x:=20 =k -b
2o 20 2

2. The amount of medicine in Elizabeth’s blood is modeled by the function M(t) = -2t + 14t,
where tis the number of hours after she takes the medicine.

a. How many hours after Elizabeth takes her medicine is the amount of
medicine in her blood the highest? =2~ . -4 .3
Za "') -4 Con alSo \ook
What is the hlghest amoun in Ellzabet s blood'? For mA¥ when

b. Sof m
22,6 M(3S gfaph'( d
o When will there be no rnedlcme eft in Elizabeth's blood?
2
O="2t2 ¢l 00 Gragh look fov pesitvC

TR Qe ot

t20 T 1 ‘=
3. There are three consecutive positive integers such that the product of the smaller two is 34

less than 10 times the largest integer. What is the value of the smallest integer?

¥ = 10(xr)-34y°
x(w—ﬂ
K‘L x>+ x = 10xt20°3Y 2.3
% = IOX'M
X‘:bn'“'lbk b 1,8,9
?ﬁq* ri4=0
(%=1) (x~2)

=1 x=2
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4. Which equation matches the graph shown at the right?

a. y=8x*+2x-5

2
y=8x2+2x+5 Ty
= x=-2 \j-w\i 2 =0y

y=2x*+8x-5 4

y=2x>+8x+5

i
A Y5

fv\¢

Section 3: Geometry

1. M is the midpoint of AB. If A'is Iocated at (6 10) and M is located at (5,7), find the coordinates

of B. (6:\0) (S, 1 Xrb——¢c> 10 .7
-5 =
N‘. E:th_ \o %w{\i €
| g R U
"-"-_—--_--- "
x4 Lj:l-]

2. Find the perimeter of a triangle if the vertices are located at A(2,1) B(6,-3) and C(1,-7).

32 S T

3. The length of a rectangle is five less than four times the width. If the perimeter is 50 feet, find

the length. .- 10x~10=50 \er\g)fh‘—"\“"5
« % #\0 \0 L{(L] ._5

1 lox = 60 © 4=
Kb 43
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Section 4: Linear Functions

1. What is the equation of a line parallel to 2x - 3y = 12 through )
2n-3y > \2 -2 yemxeb
T e  MTF e GV
3y —2crld Lt o Bt

-5 -__.z

F = %

2. What is the equatiort of a line with an und
X=3

3. Find the range for the following function given the domain {-2, 3, -5} : y = -4x - 1

-a(-N-\ 7]
oy $-\5,7,\4§

fined slope passing through (3, -4)?

-m3)-1 =S
-93(-6)-1 =49

Cammbimem E0 Camtbar DiAd~

~D-

-6Q00 .
®-sso = =%

1260
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2 | 549
Lt s
a) Equation of the Line of Best Fit/linear regression equation: «j =H,92% ~Z,59

b) What does the slope mean in the context of the problem?

1,42 \\bs 3amco\/mon’th

c) What does the y-intercept mean in the context of the problem?

gTartmﬁ ‘N'Cifj\'\\' (Q\Hr\oug\\ not tca\ls‘\\‘-)

d) Using the trend, how much will the panda weigh when 2 years old? 24mo
4a2(24)-2.65 = \15.62 \bs
Is this realistic? Yes

e) Whatis the correlation coefficient and what does it mean?

r=.110 1 strong osi\tiNe

f) What is the residual of a panda that is 6 months old?

-2.63
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Section €: Seauences m“ 5 S \3

1. Which sequence uses the algebraic expression 4n + 5 to describe the relationship between a term in the sequence and

its position, n, in the sequence? ‘ 1 ?
A.4,9,14,19,24.. B.4,8,12,16,20.. Gg, 13,17,21,25..  D.9,10,11,12,13 ...

2. Complete the table:

) ‘@m Esplicit form .
3 5517 q 4%-3 Qa = dn+ "'L!'
Y] = =

1109,7.5,3. - 'ZX"'"' g 2 .

L.}

- olvtﬁz v
15,30, 45,60, 75, ...}

e s y=I19% > Qg +
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